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2 : r 4

X —20=\ﬁ9+\/20+\/20+\/20+...mqz: & +20)(x~1) WWW%?

g A xfrap e - (a) 8

(a) 4 By 9

: {e)iv10

(b):74-5
@ 12

© 5

@ 26 My . : 5. (x8—y8) 3N (x7—y7 + xBy2 — x2y5) T HCF =1
22

(@) x2+y?)

g. alk 2*P_ctd oL o @ Pefife| B 2oy
b+c d+a
() ((x3-y3-—x2%y+xy2)

H Y HAT e 8 ? :
(d (x3-y3+x%y—xy2)

(a a+b=c+d

b) a+c=b+d 6. 3 Wi x2 — 14x + k = 0 % el & Ml

INTHA 100 B, A & T WH R 2
(¢ a-b-c+d=0
(a) 42
d a+b+c+d=0
- (b) 48
(c): .52
(d 56

3. If2 (a3 + b3), (a2 — b2) F THHUE B, @
(a2 — ab + b2) foFaeh TUIT & 2 : ?Tﬁ x2 + px + q 3 x2 + gx + p %I HCF
: x+K) 2, Tal prqR, MBI AT FTR ?

(a) - (a=b)
(a -1
() (a+b)
(b). 0
(c) (a+ab+b)
. 1
(c)- E
(d) (a3v— b3)
(d).1
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10 If ; 4.‘

~20= \/20 +1/20+ /20 + J20 + . infinite terms,

then what is x equal to ?

a) 4
(b) 5
© 5
' 5.
@ 25
TR £B P g where a # ¢, then which one
b+c d+a
of the following is correct ?
(a) a+b=c+d 6.

(b)) a+c=b+d
() a-b-c+d=0

d a+b+c+d=0

8. If (a3 + b3) is proportional to (a2 — b2), then |7

(a2 — ab + b2) is proportional to
(a) (a-b)
(b) (a+b)

(c) (a+ab+h)

d (a3-bd)
FDGT-T-EMT (3-A)

x + 20 + -1
X+ 2 -1
value of J(x +20)(x -1

><

If , then what is the

o
N
co|~1

P

~"

(a) 8
b 9
() 10
d 12

What is the HCF of (x8-y8 and
(x7 - y7 + xBy2 — x2y5) ?

(a) (xZ+y?

b)) x2-y?)

© 3-y3-x%y+xy?)

(d (x3-y3+x2y—xy2)

If the sum of the squares of the roots of the

equation x2 — 14x + k = 0 is 100, then what is
the value of k ?

(a) 42
(b) 48
(e). 52
(d) 56

If (x + k) is the HCF of x2 + px + q and
x2 + gx + p, where p # g, then what is the

value of k ?
@ =1
(B 0

1
(c) E
(d). 1
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(¢) 13 22l

@ T, 2
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: 12. fereeh ST B 2
10. 1 i L + (x? + 44/3x +12)(x - 2v/3)%
Xx-y)x-2) y(y-2)y-x)
s —__1 2
z(z-x)z-y) (@) x
foraes SR B 2
(b)) x2-2
(a) O
b)) 1 () x2+2V3
(c) Lz A
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8.  If three times the greater of two numbers is |[11. Consider the following statements :
divided by the smaller number, the quotient
will be 6 and the remainder will be 6. If five L. xXy-2+y@-0)+24x—y) is
times the smaller number is divided by the
greater number, the quotient will be 2 and the
remainder will be 3. What is the difference

positive if x > y > z.

between the numbers ? 2. xt(y-2)+y*@z-x)+2¢(x-y) is
(a) 8 negative ifx <y < z.
b) 9 ;
Which of the above statements is/are correct ?
(c) 10
d 12 (a Only1
9.  Consider the following statements : (b) Only2

] (@b + be + ca) is a factor of

Both 1 and 2
a2(b-c)3+b2(c-a)d+c2(a-h)s. e i o

R e e e T SIS (d)  Neithés 1 nae2
a2(b-c)3 +b2(c—a)3 +c2(a—-b)3.

Which of the statements given above is/are

correct ?
(a) Only1
(b) Only2 6 _ogpd 2
o ; 12. What is 3 Xras tln 5 equal
(¢c) Both1and?2 (x2 +44/3x +12)(x - 2V3)
(d) Neither 1 nor 2 to ?
10. What is
1 1 (a) x2
+
X(x-y)(x-2z) y(y-2z)y-x)
1
_— (b) x2-2
z(z-x)z-y)
equal to ? ’
2
@ o (C)_ x*+2V3
gl
1 @ x2-2/3
(0 —
Xyz,
b
Xyz
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b 9
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14. 10 2 SRR W FO W 480 =R TH-sherd
R 1 10 fedi # QU Fd & | 8 9 wifed wm
W W, Y 99 §Y HA w20 A A @@ ww
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TR 7 2
(a) 400
(b) 420
(c) 480
@ 500
(15, 12 Wfge 3R 16 Tey foreft w0t &1 5 fm # qu
W EEd § | 13 Afen 3R 24 7e9 w6 @ @
4 f # qu o "wa & | 25 wAfEwsl iR
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2 p.m. T gEH W@ME Y & X Y 3R T I8
FHAl 7 AR 80 km/hr Y NHA =T B =t
21 3 = fieif 2 :

(a) 6p.m.

().~ Tpam.

(¢c) 8pm.

(d 9pm.
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13.

X and Y can do a piece of work in 45 days and
40 days respectively. They begin to work
together, but X leaves after n days and then Y
completes the remaining work in 23 days.
~ Whatisn equal to ?
k) 8
(b) 9
€ = 10
(d 12
14. . 480 persons working 10 hours per day
complete one-fourth of a work in 10 days. How
many additional persons are to be employed in
order to complete the remaining work in ;
20 days, working 8 hours per day ?
(a) 400
(b) 420
(c) 480
(d 500
15. 12 women and 16 men can do a piece of work
in 5 days. 13 women and 24 men can do it in
4 days.-How long will 25 women and 50 men
take to do it ?
(a) 1lday
(b) 2days
-(c) 3days
(d) 4days
FDGT-T-EMT

16.

17.

(FE=A)

There are two stations X and Y, 1320 km
apart. A train starts from station X at 6 a.m.
and moves at an avei'age speed of 60 km/hr. At

2 p.m. another train starts from Y towards X

* and moves at an average speed of 80 km/hr.

When do they meet ?
(a) . 6pm.
(b) 7 p.m.
(c) 8pm. ‘
@ 9pm.

Two glasses of equal volume are ‘ﬁlled with a
mixture of alcohol and water in the ratio 3 : 2
and 4:1, respectively. These glasses are
erﬂptied into a third glass. What is the ratio of

alcohol and water in the third glass ?

‘@ 5:4
b)) . T:2
) TP
(d) Ti4



18. afz 3,8 9 27 o yop, x R 3 LCM, y|21. Wem N-126x38x58 W fER Hfw |

5’25’ 20’ 50
2, 1 Frrferfn & @ W 2 2 frrfefen ot # § SRR 76 3R 2
1. N fowm presE f d@r60? |
(a)  y=90x
2. N §H UHES! $ §&1 720 % |
(b) y=180x :
e e T e 1 v EE S g
(O y =270x e i
(d y=360x ) 2
(e) 13ﬂ'(2€l=ﬁ

: . @ TALAE2
19. x 3y q vl T=Ad €, @i x > y B | 5@

x & 68 fawrfa foran Strar 2, ot I9%a 2 oman

2 o, 9@ y # 6 & faanfoa fopan o @, e e

T 3 TR | AR (x - y) F 6 ¥ P |22 T bgi"c = 2602 . BS @=b=o) R,
- foran ST A w2 :

Al abe ST | o471 8 ?

(@) 1 : (a) -1
() 8 ® 0
) 5 . © 1
d IvHA e & femem S Fehat d 3

20. 2.3 e Th GG H HF, Ikl b AThe 23, A TH T 4% 40 e femreh ® o w2 g

1 57T B | el 1 UHGA FT R ? 3 fime < gg & 9 =1 Hio F R 2
(@ 15 | (a) 80°

(b) 18 ' : ~ () 100°

() 20 (€ 120°

@ 27 @ 220°
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18. If x is the HCF and y is the LCM of
§,£,i,ﬂ, then which one of the
6 2520 50
following is correct ?
(a)  y=90x
(b) y=180x
(o)< v=270x
(d y=360x

19. There are two natural numbers x and y, where
x > y. When x is divided by 6, it leaves the
remainder 2 and; ‘when y is divided by 6, it
leaves the remainder 3. What is the remainder
when (x —y) is divided by 6 ? :
(@) .1
(b) 3
(c)- b
(d) Remainder cannot be determined

20. The value of a 2-digit number is 5 times the
sum of the digits. What is the product of the
digits ?
(a) 15
(b) 18
() 20
@ 27

FDGT-T-EMT

21.

22.

23.

(9-A)

Consider the number N = 126 x 38 x 53, Which

of the following statements is/are correct ?
3 i The number of odd factors of N is 60.
2. - The number of even factors of N is 720.

Select the correct answer using the code given

below :
(@) Onlyl
(b) Only2

(¢) Both1land?2

(d) Neither 1 nor2

‘lqgloc
e

then what is the value of abc ?

I logipa o log1p b
Pt T ote Ry

,(@#b #c),

(a) -1
®) 0
(e) 1

d 3

What is the angle between the hour hand and
the minute hand of a clock when the clock

.shows 4 hours 40 minutes ?

80°

(a)

(b)  100°
() 120°
(d 220°
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B
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B iR e 1)
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3 HEHi x 3T y T LCM 4818, Vel x > .

T97:  (3x—2y) T HFE FAT 8 ?

FYFL: y> 1.
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Y R HU F el d fmfaRed # @
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H
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24. If logy, [995+ JxZ —12x + 60} = 3, then what
is the sum of the roots of the equation ?
(a) 12
(b) -5
©)e 10
@ 9
25. How many of the following values of x would
- satisfy the equation qx? - 2px +q=0?
1) O "p+q+“p_q,wherep>q
Jp+a-yJp-q
BURIN
2 x=u,wherep>q
q
R “p+q,wherep>q
P—q
Select the correct answer using the code given
below :
(a)  Only one value
(b)  Only two values
(¢) All three values
(d) None
26. Letp(x)=x%+x2+1,
q(x) = x* — 2x3 + 3x2 — 2x + 1. If GCD of p(x)
and q(x) is x2 — x + 1, then what is their LCM ?
(@ &+x+DxEZ-x+1)2 -
b)) x*+x2+12x2-x+ 1)
(0 *+x2+1)x2+x+1)2
d *+x2+1D)x2-x+1)2

FDGT-T-EMT

27.

28.

(11-A)

(d)

Consider the question and two statements
given below :

A 2-digit number is added to the number

formed by reversing the digits of the 2-digit
number.
Question : What is the 2-digit number ?
Statement-1 : The sum is divisible by 9.
Statement-2 : The sum is divisible by 2.

Which one of the following is correct in respect

~ of the question and the statements ?

(a) Statement-1 alone is sufficient to

answer the question

(b) Statement-2 alone is
answer the question

(c) Both Statement-1 and Statement-2 are

sufficient to answer the question

Both Statement-1 and Statement-2 are
not sufficient to answer the question

sufficient to

(d)

Consider the question and two statements
given below :

LCM of two numbers x and y is 481 where
X>y.
Question : What is the value of (3x — 2y) ?
Statement-1: y > 1.

Statement-2 : HCF of x and y is 1.

Which one of the following is correct in respect
of the question and the statements ?

(a) Statement-1 alone is sufficient to
answer the question
(b) Statement-2 alone is sufficient to

answer the question

(¢) Both Statement-1 and Statement-2 are
sufficient to answer the question

Both Statement-1 and Statement-2 are
not sufficient to answer the question



29. = fou T e ok § FeE W fmm AR (g4
T W (xR +yn), (x+y) " AT R ?
FYF1: 1 Th T HEA R |
FUE2: T W A G R |
TH IR FuA F owed d fFrefafed § @
HI-AT TE R 2

(a) ¥ 1 I A F T Faer w91 Tt
?

(b) T HT IW A & U Faar HuF-2 g3t
H

() I I IW A & T woA-1 3R Hom-2,
T T §

(d) ¥ 1 I e % T FoA-1 3 FoA-2, [32.
ST wafed TE &

0. = fou My ye SR 3 el W e Hifv

A TR x 31 y 3 areferes d@amd § |

¥ R xy>08?

FIEL: x8y0 < 0.

FYT2: x9%10 < .

W o we ® wed & Pefie @ @

A1 G R ? |

(a) gﬂwwﬁ%mqumw

(b) gﬂﬂméﬁ%méﬁawew‘w

() ¥ W1 IR 3 ¥ T he-1 3 Ho.2,
3T e &

(@) TR I Y F U k-1 3R w0,
3 T T E

FDGT-T-EMT (12-R)

(d)

d+a
d-a

M a = 3b, 4b = 5c, 6c = 7d B,

forgeh S 8 2

27

43

7
(b) 57

oy

(c) 4—3

i
27

k % 3 #9d o §, % R wgw
k-3)x2-kx—1 1 Hi§ dardias Waw
TES g R 2

(a) k<—6

b)) -6<k<2

L) 2<cki<iB

d k>6

. AR be+ed=2bd I a+c=2b 2B, @A

e @ e 78 3 2
(a). ‘a_b—cd=0 A

(b) ac-bd=0

(0 ad-bc=0

(d ad+bc=0



29.

30.
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Consider the question and two statements
given below :

Question : Is (x + y?) divisible by (x + y) ?

Statement-1 : n is a natural number.
Statement-2 : n is an even natural number.

Which one of the following is correct in respect
of the question and the statements ?

(a) Statement-1 alone is sufficient to

answer the question

(b) Statement-2 alone is sufficient to

answer the question
(c) Both Statement-1 and Statement-2 are

sufficient to answer the question

(d) Both Statement-1 and Statement-2 are

not sufficient to answer the question

Consider the quesfion and two statements
given below : |

Let x and y be two real numbers.

Question : Isxy>07?

Statement-1 : x8y9 < 0.

Statement-2 : x%10 < 0.

Which one of the following is correct in respect
of the question and the statements ?

(a) Statement-1 alone is sufficient to

answer the question

Statement-2 alone is sufficient to

(b)

answer the question

(c) - Both Statement-1 and Statement-2 are

sufficient to answer the question

(d) Both Statement-1 and Statement-2 are

not sufficient to answer the question

31.

32.

33.

(134 A)

If a = 3b, 4b = 5¢, 6¢c = 7d, then what is g hik.

-a
equal to ?

27

(a) 43

43

by
(b) o7

27

(c) - a

43

i T
(d) 7

What are the values of k for which the
polynomial (k — 3)x2 — kx — 1 has no real

linear factors ?

(a) k<-6
(b) -6<k<2
(0 2<k<6
d k>6

If bc + ¢cd = 2bd and a + ¢ = 2b, then which

one of the following is correct ?

(a) ab-cd=0
(b) ac-bd=0
(0 ad-bc=0
(d)

ad +bc=0



34. 2800 km I 3zM #, foreft fowm i nfq @
R % HE HA B T | AGT H AN 6T |
3Ed G 100 km/hr 9 8 T 3R IZH B
msoﬁqzaanmlﬁwmﬁwaﬁmnﬁ
forat oft 2
(a) 700 km/hr
(b) 750 km/hr
(¢) 800 km/hr
(d) 900 km/hr

35. ZTﬁ:x=b+c,y=c+a,z=a+b%,?‘f’f
(x +y + 2)3 — 24xyz fFEH T B ?

(a)  ad3+b3+c3

(b) 2(ad3+b3+cd)

(c) v8(a3+b3+c3)’

(d) 39w | ¥ HIE T

36. @wﬁﬁmeAéam‘gam%aﬁt
T SAfeh Y 36t e TRt g wm B @ wer
YE AR, NATd km F g W | 9 AT
@@&Wﬁaﬁaglx,ukmﬂlrﬁaﬁﬂﬁ
I ¥ =erdl 8 3N Y, v knw/hr 31 3 =1 A
IJAdT 8 | Y 8.2 fehe @ vgat X fhaan 5t
TH BT 2

ud
(a) o
vd
(b) e
(ud - vd)
(c) )
(ud + vd)
(d e
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87. 3fe fereft e i 34 Yo ¥ 9 1 3w

38.

39.

40.

(14-A)

p 8 3R 3t W % o 3R 3u goE F
% o9 # AW q B, @ pt + 4p? FFEd SR
22
(a)
(b)
(c)
(d q?

4q

8q
4q2

e x =2 + 212 B, ?ﬁx4+16x-4 1 qH 41
29
(a)
(b)
(c)
(d)

30kmaaﬁﬁx,yﬁgamﬁ'3dé CIDERS)]
2 1 3R X 1ol =1 g W 3 R, 9w
YH 25 HH o1 | Y H It R 2

152
144
136
132

(a). 3 Mr

(b) 4 km/hr

(c) 4% km/hr

@ 4% Lialhe

afe T 10,000 W 4% H aiffw T & Imfe=
AYR W HAT T a9 61 Tehafg =AW C 3,
a‘rﬁw%ﬁaaﬁ%ﬁqmwé%?

(a)
(b)
()
(d)

C< <100
T 100<C< ¥ 200
T 200<C< ¥ 400
C > < 400



34. In a flight of 2800 km, an aircraft was slowed
down due to bad weather. Its average speed
for the trip was reduced by 100 km/hr and
time of flight increased by 30 minutes. What
was the original average speed of the aircraft ?
(a) 700 km/hr
(b) 750 km/hr
(¢) 800 km/hr
(d) 900 km/hr

35. If x=b+c¢, y=c+a, z=a+b, then what is
(x +y + z)3 — 24xyz equal to ?

(a) ad+b3+c3

(b) 2(a3+b3+cd)

() 8(ad3+bd+cd)
(d) None of the above

36. A person X starts from a place A and another
person Y starts simultaneously from another
place B which is d km away from A. They walk
in the same ‘direction. X walks at an average
speed of u km/hr and Y walks at an average
speed of v km/hr. How far will X have walked
before he overtakes Y ?

ud
_(a) e
vd
b
i (u-vwv)
(ud - vd)
(c) e
@ (ud + vd)
(u+v)
FDGT-T-EMT

317.

38.

39.

40.

(15-A)

If p is the difference between a number and its
reciprocal and q is the difference between the
square of the same number and the sduare of
its reciprocal, then what is p* + 4p? equal to ?

(a) 4q
(b 8q

(¢) 4q2

@ q?

If x = 2 + 2V2 then what is the value of
x4+ 16x47?

(a) 152 7
(b) 144
() 136
(d 132

X takes 3 hours longer than Y to walk 30 km.

" If X doubles his speed, he takes 2 hours less

than Y. What is the speed of Y ?
(a) 3 km/hr
(b) 4 km/hr

(e) 4% km/hr
3
4 — km/hr

d
(d) 7

If C is the compound interest on ¥ 10,000 for

one year at 4% per annum when compounded
quarterly, then which one of the 'following is

" correct ?
(@ C<Z100
(b) T 100<C<¥T 200
(© T200<C<% 400
(d C>7T 400



37} 3773 &7t 31 (02) FE % forg i w fEn

HI :

41.

42,

3 ST A @ (03) T % fow FREfifad w

m6x2-25x+x%+-2x—5+12_0m
feram hifr |
x;_aaawrﬁaumftﬁ@mw%?

(a)
(b)

(c)
(d)

ol N e o=

X2+ = 3 wwifer A & o W

@) 6
62
b it
(b) 9
(c0 8
82
(d) 5

fa=IR #iforg :

43.

FDGT-T-EMT

TH a0 & Fatq Th Bys ABC wifen T 3,
@& g AB = 15 cm, 'BC = 9 cm,
CA=12cm#% |

cosZ A + cos2B + cos2 C TorTeh sTeR & 2

3

(a) Z

(b)
(c)

[} th[U'l et

(d)

44.

45.

sin A + sin? B + sin2 C fopEeh sqax 2 2
(a)

(b)

wlon N

(e

(d)

i oo

ERCIREER IR & i
(a) 45cm

(b) 6cm

(e) “T5cm

(d)

15 cm

3 31 TT 3 (02) T F e Bftya w e
e

46.

47.

(16-A)

foreft st 1 wag & H et s feeht fig ()
T TS G BT C T IFIA HI07 30° & | e i
g | aed ht S 2H MR B | AW Afe
ﬁgpém%sﬁaﬁaﬁﬁamm
HUTOT |

OHE T 8 2
(a)+5.30°
(b) 45°

(c): - 60°

(d) AU BT % R Fuffa T8 e
Hehl

PC foreh SR ® 2
(a) HHRX
(b) J2H HiX

(¢) +/3H HiX
(d) 2HHRE



Consider the following for the next two (02) items
that follow :

41.

42.

Consider the equation

6x2 — 25x + % W 25 +12=0.
X X

What is one of the possible values of x — : e

x
(a) %
) %
@ 2
@ g

What is one of the possible values of x2 + —15- ?

X
(a) 6
62
b e
' (b) 9
(e).5 8
82
d i
(d) 9

Consider the following for the next three (03) items
that follow :

A triangle ABC with sides AB =15cm,
BC =9 cm, CA = 12 cm is inscribed in a circle.

43. What is cos? A + cos? B + cos? C equal to ?
3
( o
a) 2
(§ . B |
5
( 2
c) 1
d 2
FDGT-T-EMT

44.

45.

(a) .2

! %
Ry o
(b) 1
@1
3

d e
(d) Fi

What is sin? A + sin? B + sin? C equal to ?

What is the radius of the circle ?

(a) 45cm
(b) 6cm

() 75cm
(d 15cm

Consider the following for the next two (02) items
that follow :

46.

47.

(17-A)

The angle of elevation of a cloud at C from a
point (P), H metres above the surface of a lake
is 30°. The height of the cloud from the surface
of the lake is 2H metres. Let 0 be the angle of
depression of the reflection. of the cloud in the
lake from the point P.

What is the value of 6 ?
(a) 30°
(b) 45°
(c) 60°
(d)

Cannot be determined due to

insufficient data’

What is PC equal to ?

(a) H metres

(b)  V2H metres
(¢)  +/3H metres
(d) 2H metres



7 R aied @ (03) T F forw REfiled W
eI Fifare

X 0 1 2 3 4 5

f | 46 | p q | 25 | 10 5

el TRERAT 200 8 3§ T 1T 146 7 |

48. pHAH FT R ?
(a) 170
(b) 72
(e)i- 226
d 78
49. qHFT HA R R ?
(a) 32
(b) 34
(0 36
d 38
50. S 1 HIETSH F91 8 ?
()l
(b) 2
(e)<-3
@ 4
FDGT-T-EMT

51.

52.

53.

(18-A)

- (d)

2 2

q’%tane = _q__:p_
- p

sec O + cos 0 + 2 TorTeh ST 8 ?

. 0<06<90° B,

2+q2

Pq

(a) P

(p+ q)2
Pq

(b)

2
T
2pq
(p-q)?
Pq

(d)

M 115in 0 + 60 cos 6 = 61; 0 <O <90° 8, Tl
/660 (tan 6 + cot6) T HF &1 B ?

61

61J2

(a)
(b)
(c) . 122

1222

YT oed doemsh  (Fss Wy gfd) A
15 yonati & forelt Tn-agys & 3faia @9 Y

foreft g =1 =g N @ 2
(a) 05cot12° °

(b).- “cot 12°

(¢) 0-5tan12°

(d) tan12°



Consider the following for the next three (03) items

that follow :

A frequency distribution table is given below :

x 0 1 2 3 4 5

£ 4858 p q | 256110 5

~ Total frequency is 200 and mean of the

distribution is 1:46.

What is the value of p ?

48.
(a) 170
(b) 72
() 176
(d 78
49. What is the \‘ralue ofq?
(a) 32
(b) 34
(e 36
(d 38
50. What is the mediaﬁ of the distribution ?
(a) -1
(b) 2
(0 3
d 4
FDGT-T-EMT

51.

52.

53.

(19-A)

(c)

. (b)

oZ - p?

If tan 6 = ;0<0< 90°, then whaf is

sec 0 + cos 6 + 2 equal to ?

2+q2

Pq

(. 2

' 2
b 29

Pq

(p+q?
2pq

(p- q)2
Pq

(d)

If 11 sin® + 60 cos © = 61; 0 < O < 90°, then
what is the value of /660 (tan6 + cot6) ?

(a) 61

(b) 6142
© 122
@ 1222

What is the diameter of a circle inscribed in a

regular polygon of 15 sides with side length

unity ?
(a) 0-5cot 12°
cot 12°

() 0-5tan 12°

(d) tan 12°



1 +sinf tan‘O +secH-1
54.
!]ﬁ cos0 - % tanb —secH + 1
T B 2
() e
)i x
0 2%
X
@ =
2
55. fm=fafga w faam Hifvm .
tan6+sin6_sece+1 %
tane-s‘ine secO—1
3310<e<—%|

56.

; 2sin 0 + 3 cos O
3,

o cos29—sin29= 2tan 0 3

cos20 +sin?0 tan20+1

GIEIO<9<-—%I

IgH A I ﬂq-mﬁm-ﬁ waafeT 278 2
(a) Had 1

“(b) had 2

() 13 23H

@ dT@ IR 2

sin 6 + cos0O
sin® — cos0 4

S w2
3sin6 — 2 cos0

8
(a) '5—
(b) 2
12
(c) ?
(d) -3
FDGT-T-EMT

=5%,ﬁﬁ0<6<§;9¢£
60.

57.

58.

59.

(20-A)

! Loty o

cosec O —cot® sme

1 @

' cosec O +cot® sin®

forees ser 8, et

0<6<—%?

(@ —x
(b)
(c)

Wi ie

2sin® 6 + 2 cos® 0 — 3 sin 0 — 3 cost 6 fopEH
T B 2

(a) -1 :
(b) 0
(ey ol
d 2

3600 sec? 6 + 121 cosec 0 T =[FAH W T B,
TE 0<0< —%?

(a)-= <1320

(b) 2401

(e) 3721

(d) 5041

1+5in0)2 g )
(*Sm)Jr(c"s, J-z fopae st
cosO 1+sin6

8, B 0<0< g 22

(a) tan®

(b) cot®

() 2tan®6

(d 2coth



LTI A LR R | b Aokt 1
; tan6 —secO + 1
equal to ?
(a) -x
(by- «=x
(C)ed 9%
)<
d i
(d) 2
55. Consider the following :
tan6 +sin® _ sec6+1
tan0 —sin® secO-1’ 58.
where 0 <0 < g
9 cos20 -sin20 _ 2tan®
; cos?0 +sin20 tan20+1’
where 0 <0 < —TE.
Which of the above is/are identities ? 59.
(a) Only1l
(b) Only2
(¢ Both1and?2
(d) Neither 1 nor 2
PR (o e g S D U R G
sin® — cos0 2 4
then what is the value of M ?
; 3sin6 -2 cosO -1 60.
8
(a) =
o g
(b)
12
(0 —
5
()73
FDGT-T-EMT (21-A)

@ ==

1f A Lighe o
cosec O — cot 0 sin6
1

cosec O + cot O

x, then what is

~ 1 equal to, where
sin6

0<0 =
2

(a)
(b)
(c)

=X

M M

What is 2 sin®0 + 2 cos®0 — 3 sin40 — 3 cos% 0
equal to ?

(a) -1

(b) O
: (o i |

a2

What is the “minimum value of.

3600 sec2 0 + 121 cosec? 0, where 0 < 0 < % ?

(@) 1320
b 2401
© 3721
d 5041

7 ; 2 2
What is (1+sme) + cos.e —2 equal
\_ cos0 1+sin6

to,where0<e<%?

(a) tan®
(b) cot®
() 2tan®
(d)

2 cot O



Iy 3 o F d s e x B, A

61.
: Freafefea & @ A adt 2 2
(a) xy+xz—-yz=0
() xy+xz-2yz=0
() xy+xz+yz=0
(d =xy+xz-4yz=0
62. 120 % Tt Gufd TRl @1 wreAeh w1 & 2
(a) 10 :
(h)i =411
(@) 12
@ 135
63. 50 ¥ HIfYd n HHET % Teh T & foererdl &1
Ik - 10 8 3R 46 ¥ Wiy 3 AE H
foaraat &1 JThet 70 R | 3 WET W1 HIET @
22 ’
(a) 485
(b) 49-0
(¢) 495
d 500
64. 4 ferreri < BT % wey #, St v wlan # I3
8, frafafaa amoft w famm Hifse
frare | A | afen i shea i
I 60 60
11 & 80
111 50 40
IV X 50052
afe weft =R foenerd & ol % ofEd i 58
&, a1 faarem v & fa o= v § 93 2
(a) 38
(b) 40
() 42
d 44
FDGT-T-EMT

65. fafira gagf a@maﬁ

66.

67.

(22-A)

@

4,17, 10, 14, 2x + 3, 2x + 5, 22, 23, 30, 50

% s e F A 7 | x % fafgy wei ¥g
ATHST (2T)  AIET & foIu fehad Gl wH
g7

(a) had Th UM

(b) e g1 AH

(c) had diF AH

(d U= AR

Ife ggell 100 ¥9 gqUl H@ATST w1 WS M
8, a1 ggelt 100 faww gl demsti w1 ey
1R ? '

(a)» M-1

(b) M

¢ M+1
M+2

. 50 BT & 3Ed 37 78-4 91U MU | AfkT &1¢ |

qﬁw%gsﬁmﬁw%%mwm
3T 25 &l et ¥ 52 gg forEn T A1 | wE

3ited 3R Teq off e | o = 8 2
(a) 0-04
(b) 0-08
() 012
(d 018



61. If x is the harmonic mean between y and z,
then which one of the following is correct ?
(a) xy+xz-yz=0
(b) =xy+xz-2yz=0
(c) xy+xz+yz=0
(d xy+xz-4yz=0
62. What is the median of all possible factors of
120 ?
(a) °10
am)- 11
o 12
(d 135
63. The sum of deviations of a set of n values
measured from 50 is — 10 and the sum of
deviations of the values measured from 46 is
70. What is the mean of the values ?
(a) 485
(b) 490
() 495
(d 500
64. Consider the following table in respect of
students of 4 schools who appeared in a test :
Number of | Average marks in
i students tﬁe test
1 60 60
I 50 80
111 50 40
v R 50
If the average marks of the students of all four
schools are 58, then.how many students
appeared from School-IV ?
(a) 38
(b) 40
(o0 42
(d 44
FDGT-T-EMT

65.

66.

67.

(23-A)

(d)

The data of different natural numbers

4,7,10, 14, 2x + 3, 2x + 5, 22, 23, 30, 50
are in ascending order. How many possible
values are there for the median of the data for

various values of x ?

(a)

Only one value

(b)  Only two values

(¢)  Only three values

Five values

If M is the mean of the first 100 even natural
numbers, then what is the mean of the
first 100 odd natural numbers ? '

(a) M-1
(b)) M

(© M+1
d M+2

Mean marks of 50 students were found to be
78:4. But later it was detected that 95 was
misread as 59 and 25 was misread as 52.
What is the difference between correct mean

and incorrect mean ?

(a) 004
(b) 008
¢} 022
(d) 0-18



68. TH BT ABCH, LA=20, /B=,C=403N

69..
¥ Y BC, CA, AB %I %A D, E, F T W¥

70.

- FDGT-T-EMT

0, 4 sin20 + 2sin 6 — 1 = 0 %I HGE HT 2 |
BC %1 AB & 31JUTd &1 8 ?

), Callii )

“5-1
2

5 -1)

-

(b)

(c)

(). 2G5 =)

T B9 ABC & 3idia Tk g @ien sirn 2 |

HAT 8 | « EDF foress st 8 2

(a). 90°=A

B+C
o

(b) 90°-—

(e) - 90°-2A

@mﬁm,maﬁg@ﬁ%w%

aﬂzaﬁg@,mmaﬁggﬁm&w‘

1 I H B R 3@ R A wh 7w At
Tl et B8 i e L R, @ FefoReaa § @
H-H HE R 2
(@) 12L=29H
(b) 9L =25H
(© 7L=23H

(d 5L=13H

M HR art @7 (03) ¥ F e Aefolye w
faam #ifa :

71.

72.

73.

(24-A)

12 cm B 3R 16 om I A wH vEER
S B I W TR | T WS @O A
I I ? N M H IR Ve & aw
e ot Rl @t T e 8 3 ¥g A g
BIR

ot i s R R 2
(a) 5cm

(b) 6cm

() 65cm

(d T7cm

gt fiehe I (TrewRdl) % W1g wdT # fRan
9Tt /= 2

(a) 288rmL
(b) 3607 mL
() 4807 mL
(d 5007 mL

SO % e gEE &Eed o e % gEt
8GR | U T R 2

(a)
(b)

(c)

wWlor | W

[\

(d)



68.

69.

70.

In a triangle ABC, LA =20, ZB=2ZC =46
and O satisfies 4 sin20 + 2 sin 6 — 1 = 0. What

is the ratio of BC to AB ?
(8), B =1
5 -1)
(b) 3
5 -1
(c) 1
265 -1)

(d)

A circle is inscribed in a triangle ABC. It
touches the sides BC, CA, AB at D, E, F
respectively. What is £ EDF equal to ?

(a) 90°-A
® 90o— B+O
2
(©)  90°—2A
St
@ 90°— ( : j

The length of a room is % times its breadth
and breadth is % times its height. If H is the
height of the room and L is the lonéest rod
that can be placed in the room, then which oﬁe

of the following is correct ?

(a) 12L=29H
“(b) 9L=25H
(¢) T7L=23H
(d) 5L = 13H
FDGT-T-EMT

(25-A)

71,

72.

73.

Consider the following for the next three (03) items
that follow :

A conical vessel of radius 12 cm and height
16 cm is filled with water. A sphere is lowered
into water and its size is such that it touches

the sides of the vessel and it is just immersed.

What is the radius of the sphere ?

(a) b5cm
(b) 6cm
) 65cm -
(d T7cm

How much water will remain in the vessel
after the overflow ?

(a) 288n mL
(b) - 360 mL
(¢) 480m mL
(d) 500m mL

What is the ratio of lateral surface area of the
vessel to the surface area of the sphere ?

4
(a) g

3
(b) 3

5
(c) §
@ 2



7 377 1 1 (02) T F forg Reafifed @ faam

74.

75.

76.

forelt g i 1 &= hi T A, g9 g W
90° T IV FTT 2 | :

ISt ABC, A W §HSIU ? 3T AD, BC W &«
® | 92 BD = 75 cm 3 DC = 10 cm ®, @ AD
formes st B 2 :

(a) 5cm

() 542 cm

(0 543 em

(d) ' 10 cm
FDGT-T-EMT

71.

78.

79.

80.

(26-A)

~(b)

ISt ABC % 31YR BC W &« AD, BC % D T
38 YR idesied a1 8 @fe DB = 3CD # |
frafofaa § & s ad 2 2

(a)
(b)
(c)  4(AB+AC)(AB-AC) = 3 BC?
(d) 5(AB+AC) (AB-AC) = 4 BC?

2 (AB + AC) (AB - AC) = BC2
3 (AB + AC) (AB - AC) = 2 BC?

s ABC, C W THehviiy ® 3R AC = /3 BC
%leBcﬁ?a%w%?

(a)s: 7302
452
(c):. 602

(d) 75°

s ABC H, £ A =60°2 | AB? + AC? — BC?
fopaeh s B 2

(a)
(b)
(¢ AC.BC
(d 2AB.AC

AB.AC
AB.BC

qie ¥ &4 Th Ml &1 419 3 cm & | Ml &
o S 8 3t 3E9 ar e 9 R )
Ife ar i e e Mer }, 9 R F =T
TR 2

(a)
(b)
(¢) 06cm
(d)

0-3 cm
0-45 cm

0-75 cm



Consider the following for the next two (02) items
that follow :

A chord of length [ of a circle makes an angle
90° at the centre of the circle. s

74. What is the area of the minor segment ?
i 1
(a) ? (‘E % —2')
12 1
® ('n: £ 5)
12 (n
—=-1
(c) 1 ( 2 j
12 e
d i e
o 2 (2 2)
75. What is the area of the major segment ?
12 (3n
LR |
(a) % (2 + ]
: 12 (3n
o8 i 45
® Z(F-1
12 (3n
LA |
(c) 5 ( 2 + ]
12 (3n
d —|—=-1
(d) 3 ( 2 )
76. Triangle ABC is right-angled at A and AD is
perpendicular to BC. If BD = 7-5cm and
DC = 10 cm, then what is AD equal to ?
(a) 5cm
(b) 542 cm
() 543 em
(d 10cm
FDGT-T-EMT

71.

78.

79.

80.

(27-A)

The perpendicular AD on the base BC of a
triangle ABC intersects BC at D so that
DB =3 CD. Which one of the following is
correct ?

(a) 2(AB+AC)(AB-AC) = BC?
(b)
(© 4(AB+AC) (AB - AC) = 3 BC?
(d)

3 (AB + AC) (AB - AC) = 2 BC?

5 (AB + AC) (AB — AC) = 4 BC?

Triangle ABC 1is right-angled at C and
AC = /3 BC. What is 2 ABC equal to ?

(a) 30°
(b) 45°
()" 508
d 75°

In a triangle ABC, ZA = 60°. What is
AB? + AC? - BC?equal to ?

(a) AB.AC
(b) AB.BC
(c) - AC.BC
(d) 2AB.AC

The diameter of a sphere made of copper is
3 cm. The sphere is melted and recast into a
wire. If the length of the wire is half metre,
then what is the diameter of the wire ?

(a) 0:3cm
(b) 0-45cm
(0 06cm
(d 075cm



8l. TH ¥ Hl 9K 30 cm B | TP JUR F
AT TF FHAG 8 WF » MY W T B T
HTe T 7 | A W UF B A, fou My
@%WW%%,@%%W
(ShEeH) hi FHaTg AT 8 ?

(a) 10cm
(b) 12cm
(¢) 18cm
(d 20cm

82. Yl H TH JIAWPR AT 24 cm wel IR
18 cm =TSl & | $Hb Tk B & x em YT H
T 1 e AT § IR et w=h = @
gar fesn (sfo) s@mn S ® | afe fess
(STeFd) 1 HAGH 640 9 cm @, A x HI AH
TR ?

(2) 2
(b): 23
(e) -4
@ 6

83. WH iV x, y, z Th TW A w«E, e,
H4TE 2 | A R A 400 9 cm 3N Fed
'{aﬁaaﬁwamaﬁcm B, W xl 4 yl4 gl
foreh sre R 2

17

(a) %

17
o

7

(c) E

9

S
FDGT-T-EMT

84.

85.

86.

87.

T gueE (SHiform) & @ gEiat Yd 29 em
3R 21 cm B | @A YT SO § 3R T3®
&l TETE 85 cm B | THGS 1 BB 1 8 2

(a) 187-5 a1 c¢m

‘b) 227:59 em

(¢) 3753 em

(d) 4559 em

16 cm YT aTell T IR dfel 1 I HT 97
1286 gm B | S W H H 14 cm E H &

gaeR feeh #é It 8 | Sl 99 T W

*mtw%?(m%z-)

(a) 48gm
(b) 49gm
(¢) 50gm
(d 51lgm
T THEGHS H &I 96 I om B N FHH

T ool i TEE 12 em B | TEEQES W
9fTg = g 2

(@) 36cm
(b) 40cm
() 44cm
(d) 48cm

10 em 591 a1 U g9 % Siaid U wEehIvig
s ABC @fer wmar ® | wf AC W EiE g
Yﬁﬁﬁﬁﬁéﬂ'@Scm% IﬂﬁAB:xcmﬁ'{
BC=ycm%,?ﬁxyWWiF5|T%?

(a) 60

- (b) 80
() 120
(d 160

(28-A)



81. The height of a cone is 30 cm. A small cone is
cut off at the top by a plane parallel to its
base. If its volume is -2% of the volume of the
given cone, then what is the height of the
frustum of the cone ?

(a 10cm
(b) 12cm
(¢) 18cm
(d 20cm

82. A rectangular metal sheet is of length 24 c¢m |
and breadth 18 ecm. From each of its corners a
square of side x cm is cut off and an open
box is made of the remaining sheet. If the
volume of the box is 640 cubic ¢cm, then what
is the value of x ?

(a)y. 2
(b) 3
() 4
d 6

83. Let x, y, z be the length, breadth, height of a
cuboid. If its volume is 400 cubic cm and
total surface area is 340 square cm, then what
is x1+y-1+zlequalto?

17
(a) . oaee
20 .
17
b s ol -
- 40
i
) —
10
9
@ —
10
FDGT-T-EMT

84.

85.

86.

87.

(29-A)

‘Two parallel sides of a trapezium are 29 cm

and 21 cm. Non-parallel sides are equal and
each is of length 8:5 cm. What is the area of
the trapezium ?

(a) 187-5 square cm

(b) 2275 square cm

(¢) 375 square cm

(d) 455 square cm

A square copper plate of side 16 cm weighs
128 gm. A circular disc of diameter 14 cm is
cut off from the plate. What is the weight of

the réemaining part ? (t = 27—2— )

(a) 48gm
(b) 49gm
(¢) 50gm
(d 51lgm

The area of a rhombus is 96 square cm and
one of its diagonals is of length 12 cm. What is
the perimeter of the rhombus ?

(a) 36cm
(b) 40 cm
(¢) 44cm
(d 48cm

" A right-angled triangle ABC is inscribed in a

circle of radius 10 cm. The altitude drawn to
the hypotenuse AC is of length 8 cm. If.
AB = x cm and BC = y em, then what is the

value of xy ?

(a) 60
(b) 80
© 120
d 160
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89.

90.
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INTHS 897 & cm B 3 I gl & = I
gl 13 cm 2 | 37 Bt & ffe 1 o
22 S
(a) 2cm
(b) 2:5cm
() 3cm

(d) 3;5 cm

T 7 SN Th FG T IR S R | I
m%iﬁalﬁcmﬂmélmiﬁ
Fag, 3Eeht e ¥ Rt aiftes & 2

(a)

lcm
(b) 2cm
(© 38cm

(d)

4 cm

A G THA &% F §, I 480 & cm %

(a). 2cm.
b)) 4cm
(c) 6cm

(d 10cm

91. wnrﬁaém,aﬁfaﬁr@éa%wm

92.

93.

(30-A)

AT ® | 3HH! e foEd 12 em, 10 em 3R
8cm§ |aﬁaia&$‘1ﬁa«%m37saﬁcm%,~

Al ARl hl HISTS 1R 2
(a) 0-5cm

(b) 1 cin

(0 15cm

(d 2cm

X, Y ARz fF wwag Byw & | X SR Y &
QTS T ANTHA, Z F ST F SUS R | AR

: XaﬁtYﬁgmaﬁaﬁmﬁmzscmaﬁt

8cm§,?ﬁZﬁ§mﬁ?’iﬁ1§W%?

(a) 9cm

(b) 9:5cm

(0 10cm

(d . 105cm

210 m E A TH AR Teh H Teh TFht
&R H U oAt b fma gwg o, afe @
6 kan/hr 1 <17 @ et 7 = 22

66 firFe

(b) 55fE

(¢ 44fFe

3-3 fime

(a)

(d)



88. Two circles touch externally. The sum of their
areas is 89n square cm and the distance
between their centres is 13 ¢cm. What is the
difference in their radii ?

(a) 2ecm

(b) 2-5cm

(©: 3cm
‘(d): 35cm

89. A square and a rectangle have same
perimeter. They differ in areas by
1 square cm. The length of the rectangle
exceeds its breadth by
(a) 1lcm
(b) 2cm
(¢ Bcm
(d 4cm

90. Two rectangles are of same area equal to
480 square cm. They differ in lengths by 6 cm
and breadths by 4 cm. What is the difference
in their perimeters ?

(a) 2ecm
(b) 4cm
(¢) 6cm
(d 10cm
FDGT-T-EMT

91.

92.

93.

(31-A)

A closed box is built of wood of uniform
thickness. Its external dimensions are 12 cm,
10 cm and 8 cm. If the inner surface area is
376 square cm, then what is the thickness of
the wood ?

(a 05cm
(b) lem
(0 15cm
(d) 2 cm

X, Y and Z are three equilateral trianglés. The
sum of the areas of X and Y is equal to the
area of Z. If the side lengths of X and Y are
6 cm and 8 cm respectively, then what is the

~side length of Z ?

9 cm

(a)

(b) 95cm

(¢ 10cm

(d 10:5cm

What is the time taken by a person to cover
one round of a circular park of diameter 210 m

if he walks at a speed of 6 km/hr ? (1 = ?)

(a) 6:6 minutes
(b) 5'5 minutes
(¢) 44 minutes
(d) - 3:3 minutes
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95.

96.
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23 émﬁgmﬁlﬁ@m@ﬁga%daﬁa
T g G I @, St Brgs i oyenedt &t
el wear B | By % 9 s R w1
FE 2

(2\/§;n)a1'fcm

b (@3 - em

(© (43 —-2mTem

43 - ) & em

(a)

(d)

T By 1 geti i @91 x cm, x + 13 cm
3ﬂ'{x+26cm§|qﬁmml26'&ﬁcm
®, @ x T HE FATR 2

(@ 18

b) 17

) 16

@ 15

ABCD U% @Wick ¥q¥s 2 | A, B 3K C &
TSRdT g TF g CD (T TK) H E W
aﬁ%@ﬁam%|ﬁmﬁ1ﬁ§aﬁéaﬁqw
HHY T R 2

1. AE=AD

2. CD=DE ,

= R T e R R IR gh
%ad 1 |

(b) ket 2

() 13K 23Mi

I 1LAE 2

(a)

(d)

97. Frfefad wedi W fa=m Hifsm

98.

(32=A)"

1. uF wwarg B #, S5 o ahgw @
&g gureh € |

2. @Wﬂgﬁa%aﬁwm qa;:q:q
T T T E |

3. JA% THE THIR ST TH G gl
g1

I0feh el @ B v B 2
(a) had 137 2
(b) haw 2 3 3
(c) had 131 3
@ 1,233

ABCD & " (¢fiftam) 2, e AB, DO
% i & | 9 A, B, C 3 D v I &
ToRa # | P d a sma w8 2

1. AD=BC

2. ZA+ZC=180°

3. ZA+/D=180°

A o M0 2 w1 T W G I R
(a) hae 13 2

(b) A 2 3R 3

) aﬁﬁlaﬁT3

@ 1,23R3
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(d)

In an equilateral triangle of side 2v3 cm, a
circle is inscribed touching the sides. What is
the area of the remaining portion of the
triangle ?

(@) (2J3 —n) square cm
(b)  (3V3 - n) square cm
(¢) (43 -2n) square cm

(4V3 - ) square cm

A triangle has side lengths x cm, x + 13 cm

and x + 26 cm. If its area is 126 square cm,
then what is the value of x ?

(a) 18
(b) 17
(e) le

(d 15

ABCD is a parallelogram. A circle through A,
B and C intersects CD (produced) at E. Which
of the following is/are correct ?

1. AE=AD
2. CD=DE

Select the correct answer using the code given

below :
(@) Only1
(b) Only 2

(¢c) Both1and?2

(d) Neither 1 nor 2

97.

98.

(33-A)

Consider the following statements :

1; In an equilateral triangle, the centroid

and centre of circumcircle coincide.

2.  Angle bisectors of a cyclic quadrilateral

form another cyclic quadrilateral.

3. Every cyclic parallelogram is a

rectangle.

Which of the statements given above are

correct ?

(@) Only1land?2
(b) Only2and 3
(¢) Onlyland3
(d 1,2and3

ABCD is a trapezium in which AB is parallel
to DC. The vertices A, B, C and D pass
through a circle. Which of the following are

correct ?

1. - ADsBC

2. LA+ZC=180°
& LA¥ZD = 180°

Select the correct answer using the code éiven

below :
(a) Only1land?2
(b) Only2and3

(¢c) Onlyland3

(d) 1,2and8
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HYH F ¥ BAF/HA T /B 2 % DE ®®i@t ® BC % | 98 t@r@s Byw #

_ ) B BD
1. AEBC,AEAD % §W&9Y § | i) m@'a‘“‘.’“m% LB
foraes s 8 2
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(as *Had 1
‘ w d2-1
(b) had 2 J2
(¢) 13 23 e
(c) T
@ JAL,IH2 9
d 2
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99. ABCD is a cyclic quadrilateral. AB and DC 100. In a trian_gle ABC, DE is a line segment which

when produced, meet in E. Which of the intersects AB at D and AC at E such that DE
following statements is/are correct ?
is parallel to BC. The line segment divides the

] i A EBC is similar to A EAD. triangle in two parts of equal area. What is
; g5 equal to ? \
2. ZCBE + £DAE = 180°. AB
Select the correct answer using the code given J2-1
¢ ; (a)
below : "9
(a) Only1l
v2 -1
(b)
(b). Only 2 V2
(¢ Both1and?2 &
3-1
(c) ‘/:/_
(d) Neither 1 nor 2 3
@ 2

FDGT-T-EMT “ (35-=A)
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&= T & ot s
SPACE FOR ROUGH WORK
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el T & fore sg
SPACE FOR ROUGH WORK
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&= T & foru =g
SPACE FOR ROUGH WORK
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